EARAROBEEIERT — 2 N— IBISH —F

2015558230 (£) 4E1AE1H

m%%ff.—*ri'aﬂ B ¥5%3m®Lt (w8 | mEmml - |5 5 o s
[AE4£] 1 7% :500,000 ™ ~ 2#&:115,000  ~ 33#&:45000H ~ 43#&:25,000H” . 5 3&:15,000 @
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
NN =t 29, 7 - REm ((£8)
il gr7onsva- o8 o 1(2_9)1 7-7-6-3 | 37.7 2 32) ‘;E;%W i
gz /XLy b BiY2EZ2-XIT4 X J—HrTy—LA
o BERD :29. -1-1- . — FEBF (£8)
2/5|g|FTTIWITVRTLZR -] (11219/5 %88 ‘ f; FATH
LZE—KT7—IK B:7+—FE—Ya> ZE—KIT7—L4
N 4 5 | RAEC 1:29.9 3-4-4-4 | 38.7| — 9 508 | REE (1£5)
3 2 Iy7zxlb 56.0 (21/2) (-6) /NEEDYE -
RALNT Yy TIVE B:AHIT L Wz @Rl
= K £ 4 i 1:30.1 5-5-7-5 |38.8| — 1 436 | IWEZEA (1£8)
4 71 7Yk - 56.0 ) (-p) |FREER
LibXaT—A>N— B4 x3I=3> IR %is
—i s N ZHEX :30. 22— . — REM (&£8)
5179 |TENTLETR "6 56.0 1(7305)2 rre2 | 393 ! (4?19) EEE— -
L:770—F B:ZHANILHAD B MR
T REE_ :30. === . = AB®Y (58)
618112 SIS N 4 5 o 1(320)6 11-11-11-11] 38.2 10 (4+957) el =
LB RA Y E—T BNFFILY b HiE  ERA
s - HHIEE : -10-9- — HENE (EE)
7 4D RSy T # 5 e 1(.13/02.>7 9-10-9-7 | 38.8 1 (4_949) mi% N
LBARYIFRYT—/ BT hF 1 2N— HE 43
. 4 5 | HE 1:30. 4-3-3-9 [39.7| — 8 443 | AEAIRE (1£%)
8811 b X 54.0 (7€) +1) BEFHREA
LY IRT4T5X B:IRX1-TkX pait e
s e &K TER :30. -9-10- . - RERE (BB
9 3 ho/Fayvin— "0 225.0 1(;/(21)9 89108 1 39.0 6 (437) AR -
LERYTFRYT—/ BihS ) TIR— A %
2 S 4 4 | ABER 1:31.1 6-6-5-6 |39.7| — 5 510 |REM (£H)
10[5|5(3XF—Trv 7 5.0 0 g |EAEA
R/ RS vyy BA<1457 B &
S S 4 6 | WTHE 1:31.2 10-8-8-10 | 39.7 | — 3 512 | ABM®K (ER)
1|7/ 10| ¥ 7V T D K 5.0 2 Ly |mEE
Z:va7x BiA—-bxexor THBE
RTINS INEN BER— :32. -12-12- . - JIIBZEF (£8)
1 NESDDL DY A o6 o 1(392)9 12-12-12-12| 39.7 12 (5:)39) e
R:d—IWKF7Uz—Ib B:HIFX RH—IL £ HF
@ 1—F—@&BIEf
13=7r= 6,9,2,11,7,5,1,3,4,10,12,8
Aol=5r= 6,9,11,2,7,5,1,10,3,4,12,8
G§a=7r= 6,9,11,2,5,1,7,10,4,3,12,8
41—+ — 6,9,1,2,7,5,4,3,11,10,12,8
[ RN
B OB 1 340M 714K 1-6 490M e & 1-5 740M &R 1-2-6 11,270H
8 B 1 240M 1-2 1,750 B E 1-6 1,200/ JEH 1-6-2 33,470
6 250M 2-6 2,970 B H 1-6 1,800M
2 1,020

ABICOVWTRDTEEERROODE. TR LIV,




